714 A x|

=
QleiA BRIX|/ Qleis 2

=
E

L = L o o
HUEH QldA Z3K . SAE QI8
ME LB
QlElA ZEHKE QlHA (fIx| M) 20{E 2laH AEE.
ESERI7US M/ eds m = =0(7t 2ot
2EE | LA ZEE = £ ot
ME =z
=5 LIAF Zole QIHlA Z-K{(EH 22120.)8 &7t
- AL EMRZ| 2oR mME + ok
. AHIPA A 14305
o ge =
H2E
. A%, FaixE| az
o AHIBA ARI1.4305, LR =5 &0l 2l 275
2zto| H3HEE ¥ 7Y
< Z0tAEIPAG, M, 22 FILMEB
o Q17| A A Hik 7FAH S mbEH
E7|'_|_o PAG, = ._I'—n T o= . Dl__g_% %%, E|'0|-7H¢E, °|_|':i!é %%K_{gl_
QHA EE &
« QAR B4, QHA 2EO QIHA ZHX 8
. B7HE, QlHA ZHXE
ad
d3 d5
e e
LR LRI CEERETRITA
—T ! ] ‘-l;
d‘ [
= |
~
= 1 Ly
I | WS 1
m V)
- J
/
z i1
o ; &#=2 HE
- T 22120.0114 - .0122 (A &)
0w | dq 22120.0514 - .0522 (AERIZ|A AE)
| g | a2 ozl 2
FEFE
x| ws ax I [ ]
dy d, I, ds d, ds I, 15 1y I I F, F, %A | ECH
-0,02 E|A ~ -
-0,05
[mm] [mm] [N] [°C] [g]
e xE d-a31, A
4 M 8x1 4 16 - - 35,0 16 5 - - 10 4.5 12,0 -30 80 10 22110.0103
4 M 8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 10 22110.0104
5 M10 x 1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 22110.0106
5 M10 x 1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 22110.0107
6 M12 x 1,5 6 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 29 22110.0109
6 M12x 1,5 9 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 22110.0110
8 M16 x 1,5 8 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 22110.0112
8 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 62 22110.0113
10 M16 x 1,5 12 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 63 22110.0115
12 M20 x 1,5 15 33 - - 67,0 33 10 - - 22 11,5 40,0 -30 80 128 22110.0116
16 M24 x 2 20 33 - - 78,5 38 12 - - 27 13,0 54,0 -30 80 203 22110.0117

1 -
JEHA HE SR

Ho|x| 1 ~2|3

EE HALDER IHAl: 27.7.2024


http://halder.com/kr/22110.0103
http://halder.com/kr/22110.0104
http://halder.com/kr/22110.0106
http://halder.com/kr/22110.0107
http://halder.com/kr/22110.0109
http://halder.com/kr/22110.0110
http://halder.com/kr/22110.0112
http://halder.com/kr/22110.0113
http://halder.com/kr/22110.0115
http://halder.com/kr/22110.0116
http://halder.com/kr/22110.0117

714 A x|

=]
QleiA BRIX|/ Qleis 2

=
E

x4 WS Azl & [ ME Hs.
d, d, I ds d, ds I I Iy Is [ F, F, 2| A | ZcH
-0,02 |4 ~ ~
-0,05
[mm] [mm] [N] [°C] [a]
e T, w021, A8
4 | M8x1 4 16 - - 35,0 16 5 - - 10 45 12,0 -30 80 10 | 22110.2103
4 | M8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 11 | 22110.2104
5 | M10x1 5 19 - - 40,0 18 6 - - 12 50 15,0 -30 80 18 | 22110.2106
5 | M10x1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 | 22110.2107
6 | M12x1,5 6 | 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 30 | 22110.2109
6 | M12x1,5 9 | 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 | 22110.2110
8 | M16x15 8 | 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 | 22110.2112
8 | M16x1,5 | 12 | 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 64 | 22110.2113
10 | M16x15 | 12 | 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 65 | 22110.2115
12 | M20x1,5 | 15 | 33 - - 715 33 | 10 - - 22 11,5 40,0 -30 80 117 | 22110.2116
16 | M24x2 20 | 33 - - 78,5 38 | 12 - - 27 13,0 54,0 -30 80 202 | 22110.2117
&xolgig-ad2 A8
4 | M8x1 4 - M3 7 - 16 5 45 2,5 10 45 12,0 - 250 9 | 22110.0143
4 | M8x1 6 - M3 7 - 16 5 45 2,5 10 4,0 12,5 - 250 9 | 22110.0144
5 | M10x1 5 - M4 8 - 18 6 55 3,0 12 5,0 15,0 - 250 16 | 22110.0146
5 | M10x1 8 - M4 8 - 18 6 55 3,0 12 5,0 18,0 - 250 17 | 22110.0147
6 | M12x1,5 6 - M5 9 - 22 6 7.0 35 14 6,5 19,0 - 250 25 | 22110.0149
6 | M12x15 9 - M5 9 - 22 6 7.0 35 14 6,0 25,0 - 250 26 | 22110.0150
8 | M16x1,5 8 - M6 | 10 - 26 8 8,5 4,0 17 8,5 26,0 - 250 54 | 22110.0152
8 | M16x1,5 | 12 - M6 | 10 - 26 8 8,5 4,0 17 8,5 28,0 - 250 55 | 22110.0153
10 | M16x1,5 | 12 - M6 | 10 - 26 8 8,5 4,0 17 95 38,0 - 250 56 | 22110.0155
12 | M20x15 | 15 - M6 | 12 - 33 | 10 8,5 4,0 22 11,5 40,0 - 250 111 | 22110.0156
16 | M24x2 20 - M8 | 15 - 38 | 12 11,5 5,0 27 13,0 54,0 - 250 193 | 22110.0157
e ZE M-8 1, AEIQIEIA ARl
4 | M8x1 4 16 - - 35,0 16 5 - - 10 45 12,0 -30 80 10 | 22110.0203
4 | M8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 10 | 22110.0204
5 | M10x1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 | 22110.0206
5 | M10x1 8 19 - - 40,0 18 6 - - 12 5,0 18,0 -30 80 18 | 22110.0207
6 | M12x15 6 | 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 29 | 22110.0209
6 | M12x1,5 9 | 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 | 22110.0210
8 | M16x1,5 8 | 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 | 22110.0212
8 | M16x15 | 12 | 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 62 | 22110.0213
10 | M16x1,5 | 12 | 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 63 | 22110.0215
12 | M20x15 | 15 | 33 - - 67,0 33 | 10 - - 22 11,5 40,0 -30 80 128 | 22110.0216
16 | M24x2 20 | 33 - - 78,5 38 | 12 - - 27 13,0 54,0 -30 80 203 | 22110.0217
e xE Wz - a3, AHQlEA A
4 | M8x1 4 16 - - 35,0 16 5 - - 10 45 12,0 -30 80 10 | 22110.2203
4 | M8x1 6 16 - - 35,0 16 5 - - 10 4,0 12,5 -30 80 11 | 22110.2204
5 | M10x1 5 19 - - 40,0 18 6 - - 12 5,0 15,0 -30 80 18 | 22110.2206
5 | M10x1 8 19 - - 40,0 18 6 - - 12 50 18,0 -30 80 18 | 22110.2207
6 | M12x1,5 6 | 23 - - 48,0 22 6 - - 14 6,5 19,0 -30 80 30 | 22110.2209
6 | M12x1,5 9 | 23 - - 48,0 22 6 - - 14 6,0 25,0 -30 80 29 | 22110.2210
8 | M16x15 8 | 28 - - 58,0 26 8 - - 17 8,5 26,0 -30 80 62 | 22110.2212
8 | M16x1,5 | 12 | 28 - - 58,0 26 8 - - 17 8,5 28,0 -30 80 64 | 22110.2213
10 | M16x15 | 12 | 28 - - 58,0 26 8 - - 17 9,5 38,0 -30 80 65 | 22110.2215
12 | M20x15 | 15 | 33 - - 715 33 | 10 - - 22 11,5 40,0 -30 80 117 | 22110.2216
16 | M24x2 20 | 33 - - 78,5 38 | 12 - - 27 13,0 54,0 -30 80 202 | 22110.2217
£zo| gig - a8 2, AH|IE|A A&
4 | M8x1 4 - M3 7 - 16 5 45 2,5 10 45 12,0 - 250 9 | 22110.0243
4 | M8x1 6 - M3 7 - 16 5 45 2,5 10 4,0 12,5 - 250 9 | 22110.0244
5 | M10x1 5 - M4 8 - 18 6 55 3,0 12 50 15,0 - 250 16 | 22110.0246
5 | M10x1 8 - M4 8 - 18 6 55 3,0 12 5,0 18,0 - 250 17 | 22110.0247
6 | M12x1,5 6 - M5 9 - 22 6 7.0 35 14 6,5 19,0 - 250 25 | 22110.0249
6 | M12x15 9 - M5 9 - 22 6 7.0 35 14 6,0 25,0 - 250 26 | 22110.0250
8 | M16x1,5 8 - M6 | 10 - 26 8 8,5 4,0 17 8,5 26,0 - 250 54 | 22110.0252

VEAY BRSRIY

wolx 2~2| 3
EE HALDER IHAl: 27.7.2024


http://halder.com/kr/22110.2103
http://halder.com/kr/22110.2104
http://halder.com/kr/22110.2106
http://halder.com/kr/22110.2107
http://halder.com/kr/22110.2109
http://halder.com/kr/22110.2110
http://halder.com/kr/22110.2112
http://halder.com/kr/22110.2113
http://halder.com/kr/22110.2115
http://halder.com/kr/22110.2116
http://halder.com/kr/22110.2117
http://halder.com/kr/22110.0143
http://halder.com/kr/22110.0144
http://halder.com/kr/22110.0146
http://halder.com/kr/22110.0147
http://halder.com/kr/22110.0149
http://halder.com/kr/22110.0150
http://halder.com/kr/22110.0152
http://halder.com/kr/22110.0153
http://halder.com/kr/22110.0155
http://halder.com/kr/22110.0156
http://halder.com/kr/22110.0157
http://halder.com/kr/22110.0203
http://halder.com/kr/22110.0204
http://halder.com/kr/22110.0206
http://halder.com/kr/22110.0207
http://halder.com/kr/22110.0209
http://halder.com/kr/22110.0210
http://halder.com/kr/22110.0212
http://halder.com/kr/22110.0213
http://halder.com/kr/22110.0215
http://halder.com/kr/22110.0216
http://halder.com/kr/22110.0217
http://halder.com/kr/22110.2203
http://halder.com/kr/22110.2204
http://halder.com/kr/22110.2206
http://halder.com/kr/22110.2207
http://halder.com/kr/22110.2209
http://halder.com/kr/22110.2210
http://halder.com/kr/22110.2212
http://halder.com/kr/22110.2213
http://halder.com/kr/22110.2215
http://halder.com/kr/22110.2216
http://halder.com/kr/22110.2217
http://halder.com/kr/22110.0243
http://halder.com/kr/22110.0244
http://halder.com/kr/22110.0246
http://halder.com/kr/22110.0247
http://halder.com/kr/22110.0249
http://halder.com/kr/22110.0250
http://halder.com/kr/22110.0252

714 A x|

=]
QleiA BRIX|/ Qleis 2

=
E

x4 WS Azl & [ ME Hs.
d, d, I, d; | dy | ds I I3 Iy Is [ F, F, #A | ZcH
-0,02 IS ~ ~
-0,05
[mm] [mm] [N] [°C] [o]

8 | M16x15 | 12 - M6 | 10 - 26 8 8,5 4,0 17 8,5 28,0 - 250 55 | 22110.0253
10 | M16x1,5 | 12 - M6 | 10 - 26 8 8,5 4.0 17 9,5 38,0 - 250 56 | 22110.0255
12 | M20x1,5 | 15 - M6 | 12 - 33 | 10 8,5 4,0 22 11,5 40,0 - 250 111 | 22110.0256
16 | M24x2 20 - M8 | 15 - 38 | 12 11,5 5,0 27 13,0 54,0 - 250 193 | 22110.0257

VEHL BESRIY

HA|ME
B x| AtO|= 1
d;
[mm] [mm] [a]
2 L{E IS0 8675 (DIN 439), A&l
M 8x1 13 2,7 22120.0114
M10 x 1 16 5.2 22120.0115
M12x1,5 18 7.5 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
M24 x 2 36 58,0 22120.0122
2} L{E 1SO 8675 (DIN 439), AE|QIZ|A AE!
M 8x1 13 2,7 22120.0514
M10 x 1 16 5,2 22120.0515
@ M12x 1,5 18 75 22120.0516
M16x 1,5 24 15,0 22120.0518
’ M20 x 1,5 30 32,0 22120.0520
M24 x 2 36 58,0 22120.0522

HE o

M Y &g HE

]
L
A
2
o
ol
rir

55 HEE MESAAIR.

EWNHALDER Bo|x|3~2] 3

IHAl: 27.7.2024


http://halder.com/kr/22110.0253
http://halder.com/kr/22110.0255
http://halder.com/kr/22110.0256
http://halder.com/kr/22110.0257
http://halder.com/kr/22120.0114
http://halder.com/kr/22120.0115
http://halder.com/kr/22120.0116
http://halder.com/kr/22120.0118
http://halder.com/kr/22120.0120
http://halder.com/kr/22120.0122
http://halder.com/kr/22120.0514
http://halder.com/kr/22120.0515
http://halder.com/kr/22120.0516
http://halder.com/kr/22120.0518
http://halder.com/kr/22120.0520
http://halder.com/kr/22120.0522

